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for round i is fi(x, K) = (2i - K) x mod 15, for i = 1, 2, where the Ke
K =7 and the ciphertext is 00111111, what is the plaintex o
Cipher network to help you, and show your intermediate ” 3 marks

Q2. Consider a Diffie-Hellman scheme with a common primg l,i?"éind a primitive root 0=2.

3 marks

R-iii) Distributive Law R v) Commutativity of multiplication

R-v) Multiplicative Identit v_i):?No zero divisors  R-vii) Multiplicative Inverse.

, which of the properties from above options? 1 marks

a) Abelian group Sé
; of the properties from above options? 1 marks

d out the representation from above options? 1 marks

d) Ang is said fo be commutative if it also satisfies which of the above property. 1 marks

Q4. Di:fiférgnce between attack and vulnerability? List and explain any seven attacks. 3 marks

Q5. What is SSL session? Can a session be shared among multiple connections? 3 marks
What are the parameters that define a session state?

Q6. Consider the following: Plaintext: “PROTOCOL”, Secret key: “NETWORK?”, what is the

corresponding cipher text using Play fair cipher method? 3 marks

P.T.O



Q7. What will be cipher text if the string “JAVAPOINT” is given as input to the code of

Vigenere cipher with key'as “BEST". 2 marks
Q8 How many number of tests required breaking the DES algorithm? 2 marks
Q9.Compare substitution ciphers with transposition ciphers. 2 marks
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